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Question Number : 1 Question Id : 70959721024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The feminine of the adjective viewx 1s
a. vieue
b. vieil
c. vieile
d. vieille

Question Number : 1 Question Id : 70959721024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The feminine of the adjective viewx 1s
a. vieue

b. vieil

c. vieile

d. vieille

Question Number : 2 Question Id : 70959721025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the phrase with the correct answer
C’est le petit-fils de ... ... voisin

a. moi

b. mon

c. me

d. ma

Question Number : 2 Question Id : 70959721025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the phrase with the correct answer
C'ast le petit-fils de .. ______. voisin

a. moi

b. mon

c. me

d. ma

Question Number : 3 Question Id : 70959721026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct option

a. Nous nous sommes endormis tout de suite
b. Nous sommes nous endormis tout de suite
c. Nous nous endormis tout de suite

d. Nous sommes endormis tout de suite

Question Number : 3 Question Id : 70959721026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Choose the correct option

a. Nous nous sommes endormis tout de suite
b. Nous sommes nous endormis tout de suite
c. Nous nous endormis tout de suite

d. Nous sommes endormis tout de suite

Question Number : 4 Question Id : 70959721027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



How do vou say Thev got down at the terminus?
a. Elles descendent au terminus

b. Elles sont descendus au terminus

c. Elles sont descendues au terminus

d. Elles se sont descendues au terminus

Question Number : 4 Question Id : 70959721027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How do vou say Thev got down at the terminus?
a. Elles descendent au terminus
b. Elles sont descendus au terminus
c. Elles sont descendues au terminus
d. Elles se sont descendues au terminus

Question Number : 5 Question Id : 70959721028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following French alphabet 15 not pronounced like 1n English?
a.t
b.1
c.o

d.s

Question Number : 5 Question Id : 70959721028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following French alphabet 1s not pronounced like in English?
at
b.1
c.o

d.s

Question Number : 6 Question Id : 70959721029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In which of the following groups of words the last consonant 1s pronounced
a. blond / grand

b. pour / four

c. bas / pas

d. gant / lent

Question Number : 6 Question Id : 70959721029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In which of the following groups of words the last consonant 1s pronounced

a. blond / grand
b. pour / four
c. bas / pas

d. gant / lent

Question Number : 7 Question Id : 70959721030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option where the English and French pronunciation of the following words

15 NOT the same
a. le football

b. le sandwich

c. le week-end
d. le frust

Question Number : 7 Question Id : 70959721030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option where the English and French pronunciation of the following words

15 NOT the same
a. le football
b. le sandwich

c. le week-end
d. le fruit

Question Number : 8 Question Id : 70959721031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Meurent is the 3™ person plural conjugation of which verb?
a. mourir
b. mentir
C. mettre
d. mener

Question Number : 8 Question Id : 70959721031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Meurent is the 3" person plural conjugation of which verb?
a. mourir
b. mentir
. mettre
d. mener

Question Number : 9 Question Id : 70959721032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct question to the following answer
- J'ai ving-huit ans

a. Combien d ans avez-vous?

b. Quel age étes-vous?

c. Quel dge avez-vous?

d. Vous étes de quel dge?

Question Number : 9 Question Id : 70959721032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct question to the following answer
- J'ai ving-huit ans
a. Combien d ans avez-vous?
b. Quel age étes-vous?
c. Quel dge avez-vous?
d. Vous étes de quel dge?

Question Number : 10 Question Id : 70959721033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fill in the gap with a question word
ceeeenn.....eSt-ce que les vacances commencent?
a. Quand

b. Qu

c. Que

d. Quel

Question Number : 10 Question Id : 70959721033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Fill in the gap with a question word
ceeeenn.....@st-ce que les vacances commencent?
a. Quand

b. Qu

c. Que

d. Quel

Question Number : 11 Question Id : 70959721034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The vowels in French are

a.aet1ouh
b.ae1ougq
ccae1o0uy
d aei1o0uj

Question Number : 11 Question Id : 70959721034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The vowels in French are

a. ae10uh
b.ae1ougq
ccaei1o00uYyvy
d ae 10 uj

Question Number : 12 Question Id : 70959721035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following numbers 1s written correctly in French
a. quatre-vingt

b. quatre et vingt

C. quatre-vingts

d. quatre vingt

Question Number : 12 Question Id : 70959721035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following numbers 1s written correctly in French
a. quatre-vingt

b. quatre et vingt

C. quatre-vingts

d. quatre vingt

Question Number : 13 Question Id : 70959721036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the phrase with the correct option
Mon bureau se trouve dans ... ... ... batiment
a. cet
b. cette
c.cest
d. ce

Question Number : 13 Question Id : 70959721036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Complete the phrase with the correct option
Mon bureau se trouve dans ________. batiment
a. cet
b. cette
c.c'est
d ce

Question Number : 14 Question Id : 70959721037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What 1s the feminine of the adjective frais
a. fraise
b. fraiche

c. fraisse
d. fraize

Question Number : 14 Question Id : 70959721037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 15 the feminine of the adjective frais
a. fraise

b. fraiche

c._ fraisze

d. fraize

Question Number : 15 Question Id : 70959721038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
19+6+51=

a. soixante-six

b. soixante-dix-sept

c. soixante-dix-six

d. soixante-seize

Question Number : 15 Question Id : 70959721038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
19+6+51=

a. soixante-six

b. soixante-dix-sept

c. soixante-dix-s1x

d. soixante-seize

Question Number : 16 Question Id : 70959721039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Find the correctly spelled sentence

a. Ma niece qui est infirmiére travaille a "hopital Saint Eloi
b. Ma miéce qui est infirmiére travaille a I'hdpital Saint Elos
c. Ma niéce qui est infirmiere travaille a I’hdpatal Saint Elo1
d. Ma niece qui est infirmiére travaille a I"hdpital Saint Elot

Question Number : 16 Question Id : 70959721039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Find the correctly spelled sentence

a. Ma niece qui est infirmiére travaille a 1"hopital Saint Eloa
b. Ma niéce qui est infirmiére travaille a "hopital Saint Elot
c. Ma niédce qui est infirmiere travaille a I"hépital Saint Eloi
d. Ma niece qui est infirmiére travaille a I"hépital Saint Elo

Question Number : 17 Question Id : 70959721040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

. Fill in the gap with the correct article
Ma sceur ventre. .. ... .. bibliothéque
a. du

b.dele

c.del

d.dela

Question Number : 17 Question Id : 70959721040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. Fill 1n the gap with the correct article
Ma seeur rentre__ ... bibliotheque
a. du

b.dele

c.del’

d.dela

Question Number : 18 Question Id : 70959721041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

. Identify the correct sentence

a. Ce sont des journals intéressants
b. Ce sont des journales intéressantes
c. Ce sont les journals intéressants

d. Ce sont des journaux intéressants

Question Number : 18 Question Id : 70959721041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. Identify the correct sentence

a. Ce sont des journals intéressants
b. Ce sont des journales intéressantes
c. Ce sont les journals intéressants

d. Ce sont des journaux intéressants

Question Number : 19 Question Id : 70959721042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If the phrase [is se sont promenés a vélo 1s written in the negative, which of the
following sentences 1s correct

a. Ils ne se sont promeneés pas a vélo

b. Ils se sont ne promenés pas a velo

c_ Ils ne se sont pas promenes a velo

d. Ils ne sont pas promenés a vélo

Question Number : 19 Question Id : 70959721042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
If the phrase [is se sont promenés a vélo 1s written in the negative, which of the
following sentences 1s correct
a. [ls ne s sont promenés pas a vélo
b. Ils se sont ne promenés pas a vélo
c. Ils ne se sont pas promenes a vélo
d. Ils ne sont pas promeneés a vélo

Question Number : 20 Question Id : 70959721043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The word delphin 1z written in French as
a. dauphin

b. daulfin

c. dolfin

d. daulphin

Question Number : 20 Question Id : 70959721043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The word dolphin 1s written 1n French as
a. dauphin

b. daulfin

c. dolfin

d. daulphin

Question Number : 21 Question Id : 70959721044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
Tuas .......... argent?

a. le

b. du

c. I

d del’

Question Number : 21 Question Id : 70959721044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill the gap with the correct option
Tuas .......... argent?

a le

b. du

c I’

d.del

Question Number : 22 Question Id : 70959721045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
Cast le début ... été
al
b.del
c. le
d. d

Question Number : 22 Question Id : 70959721045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
Clest le debut ... ete
al
b.del’
c. le

dd

Question Number : 23 Question Id : 70959721046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
Je suis assise ............. la terrasse d 'un hérel
a. derriére
b en
c. dans
d. devant

Question Number : 23 Question Id : 70959721046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
Je suis assise ... la terrasse d 'un hétel
a. derriére
b en
c. dans
d. devant

Question Number : 24 Question Id : 70959721047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Complete the phrase with the correct option
eeeeo... SON SEjour au Japon il va apprendre la langue japonaise
a. pendant
b en
c. dans
d. depuis

Question Number : 24 Question Id : 70959721047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Complete the phrase with the correct option
«oo.... SON s€jour au Japon il va apprendre la langue japonaise
a. pendant
b.en
c. dans
d. depuis

Question Number : 25 Question Id : 70959721048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following sentences 1s correct
a. Je vais les téelephoner ce matin
b. Je vais leur téléphoner ce soir
c. Je leur téléphoner ce soir
d. Je vais leur téléphoner ce matin

Question Number : 25 Question Id : 70959721048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following sentences 1s correct
a. Je vais les téléphoner ce matin
b. Je vais leur téléphoner ce soir
c. Je leur téléphoner ce soir
d. Je vais leur téléphoner ce matin

Question Number : 26 Question Id : 70959721049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The opposite of the sentence Il arrive toujours en retard 1s
a. Il n"arrive pas toujours en retard
b. Il n’arrive toujours pas en retard
c. Il n arrive pas jamais en retard
d. Il n’arrive jamais en retard

Question Number : 26 Question Id : 70959721049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The opposite of the sentence I arrive towjours en retard 1s
a. Il n’arnve pas towjours en retard
b. Il n"arrive toujours pas en retard
c. Il n arrive pas jamais en retard
d. Il n’arrive jamais en retard

Question Number : 27 Question Id : 70959721050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The affirmative imperative of Tu ne te depéches pas 1s
a. te dépéche |
b. dépéche-tu !
c. dépéche-to1 !
d. depeche-te !

Question Number : 27 Question Id : 70959721050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The affirmative imperative of Tu ne te dépéches pas 1s
a. te dépéche !
b. dépéche-tu !
c. dépéche-to1 !
d. dépéche-te !

Question Number : 28 Question Id : 70959721051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How 1s 8 45 p.m written in French 7
a. Il est vingt et une heures moins le quart
b. Il est huit heures quarante-cing
c_ Il est vingt heures moins le quart
d. Il est huit heures moins le quart

Question Number : 28 Question Id : 70959721051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
How 1z 8 45 p.m written in French 7
a. Il est vingt et une heures moins le quart
b. Il est huit heures quarante-cing
c. Il est vingt heures moins le quart
d. Il est huit heures moins le quart

Question Number : 29 Question Id : 70959721052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
What 15 the infinitive of the verb in the sentence Feuillez les attendre ici
a. vietllir
b. veiller
c. vouloir
d. venir



Question Number : 29 Question Id : 70959721052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 15 the infinitive of the verb in the sentence Feuillez les attendre ici
a. vieillir
b. veiller
c. vouloir
d. venir

Question Number : 30 Question Id : 70959721053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Match the noun une chemise to an appropriate adjective

a. blanche
b. bonne
c. beau

d. douce

Question Number : 30 Question Id : 70959721053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Match the noun une chemise to an appropriate adjective

a. blanche
b. bonne
c. beau

d. douce

Question Number : 31 Question Id : 70959721054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
Pour faire ce dessert il faut . ___.. lait
a. dela
b un

c. du
d.del

Question Number : 31 Question Id : 70959721054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill the gap with the correct option
Pour faire ce dessert il faut ........ lait
a.dela
b un
c.du

d.del

Question Number : 32 Question Id : 70959721055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following options would be an unlikely answer to the following question

Oh: est le chat ?
a. sur le canapé
b. sous la vorture
c. dans le salon

d. a velo

Question Number : 32 Question Id : 70959721055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following options would be an unlikely answer to the following question

Ot est le chat 7
a. sur le canapé
b. sous la vorture
c. dans le salon
d. avélo

Question Number : 33 Question Id : 70959721056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Find the odd pair :
a. pluie / tempéte
b. vent / fraicheur
c. étoile / nuage
d. gel / froid

Question Number : 33 Question Id : 70959721056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Find the odd pair :
a. pluie / tempéte
b. vent / fraicheur
c. étoile / nuage
d. gel / froad

Question Number : 34 Question Id : 70959721057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which tense 1s the verb conjugated 1n the following sentence -

Anne powrva les emmener a ['exposition
a. Le futur simple

b. Le présent
c. Le présent continu

d. L*imparfait

Question Number : 34 Question Id : 70959721057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0



In which tense is the verb conjugated in the following sentence :
Anne powrra les emmener a l'exposition
a. Le futur simple
b. Le présent
c. Le présent continu
d. L imparfait

Question Number : 35 Question Id : 70959721058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Il achéte souvent de la pizza. The pronoun that replaces de la pizza would be

a la
b. I
C.V
d en

Question Number : 35 Question Id : 70959721058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Il achéte souvent de la pizza. The pronoun that replaces de la pizza would be

a la
b. lm
c.V
d.en

Question Number : 36 Question Id : 70959721059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0
Which of the following sentences 1s in the passé récent 7
a. Il est sept heures. Il va se lever
b. Il est sept heures. Il vient de se lever
c. Il est sept heures. Il se léve
d. Il est sept heures. Il s'est leve

Question Number : 36 Question Id : 70959721059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following sentences 1s in the passé récent 7
a. Il est sept heures. Il va se lever
b. Il est sept heures. Il vient de se lever
c. Il est sept heures. 11 se léve
d_ Il est sept heures. Il s7est leve

Question Number : 37 Question Id : 70959721060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Complete the phrase with the correct option
Cuelgu’'un veut . dernieres fraises ?
a les
b. des
C. ses
d. une

Question Number : 37 Question Id : 70959721060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Complete the phrase with the correct option
Quelgu’'un veur . derniéres fraises ?
a. les
b. des
C. ses
d. une

Question Number : 38 Question Id : 70959721061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Select the correct option for the following sentence
Maxime revient d’ .. __..aprés un mois de séjour
a. Thailande
b. Portugal
c. Espagne
d. Chine

Question Number : 38 Question Id : 70959721061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the correct option for the following sentence
Maxime revient d’ .. _..........aprés un mois de séjouwr
a. Thailande
b. Portugal
c. Espagne
d. Chine

Question Number : 39 Question Id : 70959721062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Select the correct option for the following sentence
IIn'ya .. ... ... lLivvesurla gra;mmaire russe a la bibliothéque
a. pas
b. rien
c. i

d. aucun

Question Number : 39 Question Id : 70959721062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Select the correct option for the following sentence
In'ya .. ... .. livvesurla grammaire russe a la bibliothéque
a pas
b. rien
c. i
d. aucun

Question Number : 40 Question Id : 70959721063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Choose the correct answer to the following question
- Tu es reste longtemps a New York 7
a. S1 je suis resté longtemps
b. Oui je suis resté longtemps
c. 5171’y suis resté longtemps
d. Ou1 7y sms resté longtemps

Question Number : 40 Question Id : 70959721063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Choose the correct answer to the following question
- Tu es reste longtemps a New York ?
a. S1 je suis resté longtemps
b. Oui je suis resté longtemps
c. 517’y suis resté longtemps
d. Oui 17y suis reste longtemps

Question Number : 41 Question Id : 70959721064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 1s the past partciple of the verb décowvrir 7
a. découvri
b. découvre
c. découvert
d. découvru

Question Number : 41 Question Id : 70959721064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 15 the past partciple of the verb découvrir 7
a. découvr
b. découvre
c. découvert
d. decouvru

Question Number : 42 Question Id : 70959721065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Select the correct option
a. Je ne mange pas a la cantine pas a la caféténa
b. Je ne mange pas ni a la cantine m a la caféténa
c. Je ne mange n1 a la cantine n1 a la caféténia
d. Je ne mange rien a la cantine m1 a la caféteénia

Question Number : 42 Question Id : 70959721065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Select the correct option
a. Je ne mange pas a la cantine pas a la caféténa
b. Je ne mange pas n1 a la cantine m a la caféténa
c. Je ne mange ni a la cantine ni a la cafétéria
d. Je ne mange rien a la cantine ni1 a la caféténia

Question Number : 43 Question Id : 70959721066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 15 the masculine plural of the adjective séche
a. sechs
b. sécs
c. sechs
d. secs

Question Number : 43 Question Id : 70959721066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 15 the masculine plural of the adjective séche
a. séchs
b. sécs

c. sechs
d. secs

Question Number : 44 Question Id : 70959721067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following verbs is a regular 2™ group verb 7
a. servir
b. accomplir
c. souffrir
d. venir

Question Number : 44 Question Id : 70959721067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following verbs is a regular 2% group verb ?
a servir
b. accomplir
c. souffrir
d. venir

Question Number : 45 Question Id : 70959721068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
melect the sentence with the correct order of words
a. Chloé est une mince femme jeune
b. Chloé est une femme mince, jeune
c. Chloé est une jeune femme mince
d. Chloé est une jeune, mince femme

Question Number : 45 Question Id : 70959721068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Select the sentence with the correct order of words
a. Chloé est une mince femme jeune
b. Chloé est une femme mince, jeune
c. Chloé est une jeune femme mince
d. Chloe est une jeune, mince femme

Question Number : 46 Question Id : 70959721069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Select the correct sentence after replacing the nouns of the following sentence
- Vous avez parlé de vos soucis a vos parents 7
a. En avez-vous leur parlé ?
b. Leur en avez-vous parlez 7
c. En leur avez-vous parle 7
d. Leur en avez-vous parle 7

Question Number : 46 Question Id : 70959721069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Select the correct sentence after replacing the nouns of the following sentence
- Vous avez parlé de vos soucis d vos parents 7
a. En avez-vous leur parle 7
b. Leur en avez-vous parlez 7
c. En leur avez-vous parlé 7
d. Leur en avez-vous parlée ?

Question Number : 47 Question Id : 70959721070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



How do vou say She was the best singer of the sixties 7
a. Elle était la meilleure chanteuse des années soixante
b. Elle est la plus bonne chanteuse des années soixante
c. Elle etait la plus bonne chanteuse des années soixante
d. Elle est la meilleure chanteuse des années soixante

Question Number : 47 Question Id : 70959721070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
How do vou say She was the best singer of the sixties 7
a. Elle était la meilleure chanteuse des années soixante
b. Elle est la plus bonne chanteuse des années soixante
c. Elle était la plus bonne chanteuse des années soixante
d. Elle est la meilleure chanteuse des années soixante

Question Number : 48 Question Id : 70959721071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Fill the gap in the following sentence with the correct word :
v auntrain .......... arrive vers 18 heures
a. que
b.qu’
C. qui
d. quel

Question Number : 48 Question Id : 70959721071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap in the following sentence with the correct word :
Ilvauntrain .......... arrive vers 18 heures ?
a. que
b. qu’
C.qu
d. quel

Question Number : 49 Question Id : 70959721072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The sentence [ am going to buy this armchair and that wardrobe 1s translated in French as

a. Je vais acheter cette fauteuil et cet armoire

b. Je vais acheter cette fauteuil-ci1 et cet armoire-la

c. Je vais acheter cette fauteuil- 1a et cette armoire- c1
d. Je vais acheter ce fauteuil-ci et cette armoire-la

Question Number : 49 Question Id : 70959721072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The sentence I am going to buy this armchair and that wardrebe 1s translated 1in French as
a. Je vais acheter cette fauteuil et cet armoire
b. Je vais acheter cette fauteuil-ci et cet armoire-la
c. Je vais acheter cette fauteuil- 13 et cette armoire- 1
d. Je vais acheter ce fauteuil-ci et cette armoire-la

Question Number : 50 Question Id : 70959721073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the sentence with the correct option
Je cherche un appartement . . bruit

a. loin du

b. autant de
c. prés du

d. en face du

Question Number : 50 Question Id : 70959721073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the sentence with the correct option
Je cherche un appartement ... ......_... bruit |
a. loin du
b. autant de
c. pres du
d. en face du

Question Number : 51 Question Id : 70959721074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Complete the following sentence with the suitable pronoun

Nicolas ......_.. invite, toi et moi, d sa maison de campagne

a. vous
b. les

C. nous
d. elles

Question Number : 51 Question Id : 70959721074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Complete the following sentence with the suitable pronoun
Nicolas ......... invite, toi et moi, d sa maison de campagne

a. vous
b. les
€. nous

d. elles

Question Number : 52 Question Id : 70959721075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Complete the sentence with the correct conjugation of the verb remplir
cnnn .. €2 formulaire, 571l vous plait |

a. remplis
b. remplit
c. remplissent
d. remplissez

Question Number : 52 Question Id : 70959721075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Complete the sentence with the correct conjugation of the verb remplir
e een-. € formulaire, s'il vous plait |

a. remplis
b. remplit
c. remplissent
d. remplissez

Question Number : 53 Question Id : 70959721076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
Nos grands-parents passent un mois avec ...

a. moi

b. eux

C. nous

d. elles

Question Number : 53 Question Id : 70959721076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Fill the gap with the correct option
Nos grands-parents passent un mois avec ..........
a. moi

b. eux
C. nous

d. elles

Question Number : 54 Question Id : 70959721077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
How do vou say Her favorite cheese is camembeart 7
a. Son fromage préféré est le camembert
b. Sa fromage préferée est le camembert
c. Ces fromage préféré est camembert
d. Ses fromage préféré est camembert

Question Number : 54 Question Id : 70959721077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



How do vou say Her favorite cheese is camembert 7
a. Son fromage préféré est le camembert
b. Sa fromage préférée est le camembert
c. Ces fromage preféré est camembert
d. Ses fromage préféré est camembert

Question Number : 55 Question Id : 70959721078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the correct pair of articles for the following sentence
Nedommepas ... bonbons _________ enfants |
a. des/les
b. les/des
c. de/aux
d. les/aux

Question Number : 55 Question Id : 70959721078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0O
Select the correct pair of articles for the following sentence
Nedonnepas ........... bonbons ............ enfants |
a. des/les
b. les/des
c. de/aux
d. les/aux

Question Number : 56 Question Id : 70959721079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the following sentence with the correct preposition
Elle va ... . Angleterre pour faire ses études
a. a
b.en
C. au
d. aux

Question Number : 56 Question Id : 70959721079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Complete the following sentence with the correct preposition
Elleva .......... Angleterre pour faire ses études

a. a
b.en
C. au
d. aux

Question Number : 57 Question Id : 70959721080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
The negation of the sentence Il me reste encore de ['argent 15
a. Il ne me reste pas de 'argent
b. Il ne me reste rien d’argent
c. Il ne me reste pas d argent
d. Il ne me reste plus d’argent



Question Number : 57 Question Id : 70959721080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The negation of the sentence Il me reste encore de ['argent 15
a. Il ne me reste pas de 'argent
b. Il ne me reste rien d’argent
c. Il ne me reste pas d argent
d. Il ne me reste plus d’argent

Question Number : 58 Question Id : 70959721081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the following sentence with the correct option
J'aime bien la France et j ‘aimerais bien ... ... .. retourner
a. en
by
c la
d. me

Question Number : 58 Question Id : 70959721081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Complete the following sentence with the correct option
J'aime bien la France et j ‘aimerais bien refourner
a. en
by
c la
d. me

Question Number : 59 Question Id : 70959721082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the correct question for the following sentence
Il a refuse de faire son devair
a. Pourquoi a-t-1l refusé de faire 7
b. Comment a-t-1l refusé de faire 7
c. Quand a-t-1l refuse de faire 7
d. Qu’est-ce qu’1l a refusé de faire 7

Question Number : 59 Question Id : 70959721082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Select the correct question for the following sentence
Il a refusé de faire son devoir
a. Pourquoi a-t-1l refuse de faire 7
b. Comment a-t-1l refusé de faire 7
c. Quand a-t-1l refusé de faire 7
d. Qu’est-ce qu’il a refuse de faire 7

Question Number : 60 Question Id : 70959721083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Complete the sentence with the correct option
e e en ... VI FecOmMmandez-vous 7
a. Quelle
b. Que
c. Quel
d. Qui

Question Number : 60 Question Id : 70959721083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Complete the sentence with the correct option
e eeeane een ... VIM PECOMMandez-vous 7
a. Quelle
b. Que
c. Quel
d. Qui

Question Number : 61 Question Id : 70959721084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Find the odd word
a. stylo
b. cartable
c. regle
d. valise

Question Number : 61 Question Id : 70959721084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Find the odd word
a. stvlo
b. cartable
c. regle
d. valise

Question Number : 62 Question Id : 70959721085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following sentences 1s correct
a. Mon copain et moi1, nous voyons tous les jours
b. Mon copain et mo1, nous nous voyons tous les jours
c. Mon copain et mo1, nous se vovons tous les jours
d. Mon copain et mo1, on se voyons tous les jours

Question Number : 62 Question Id : 70959721085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following sentences 1s correct
a. Mon copain et mo1, nous voyons tous les jours
b. Mon copain et mo1, nous nous voyons tous les jours
c. Mon copain et moi, nous se voyons tous les jours
d. Mon copain et mo1, on se voyons tous les jours



Question Number : 63 Question Id : 70959721086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Choose the correct tense for the verbs in the following sentence
Quand nous (étre) jeunes, mes fréres et moi, nous (aller) chez nos grands-parents
tous les étés
a. sommes / allons
b. serons / 1rons
c. avons été / sommes allés
d. étions / allions

Question Number : 63 Question Id : 70959721086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Choose the correct tense for the verbs in the following sentence
Quand nous (étre) jeunes, mes fréres et moi, nous (aller) chez nos grands-parents
tous les étés
a. sommes / allons

b. serons / irons
c. avons eté [ sommes allés

d. étions / allions

Question Number : 64 Question Id : 70959721087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
How do vou say [ was thinking about vou 7
a. Je te pense
b. Je pensais a to1

c. Je vous pensez
d. J'étais penser de to1

Question Number : 64 Question Id : 70959721087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
How do vou say ] was thinking about you 7
a. Je te pense
b. Je pensais a to1

c. Je vous pensez
d. J'étais penser de to1

Question Number : 65 Question Id : 70959721088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct past particple of the verb
Tuas .........(mettre) le couvert 7
a. mettu
b. mette
C. mettre
d. mis

Question Number : 65 Question Id : 70959721088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill the gap with the correct past particple of the verb
Tuas ..........(mettre) le couvert 7
a. mettu
b. metté
c. mettré
d. mis

Question Number : 66 Question Id : 70959721089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fill the gap with the correct present participle of the verb
Ne .. (saveir) pas quoi dire, je suis reste muet
a. sais
b.su
c. savant

d. sachant

Question Number : 66 Question Id : 70959721089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fill the gap with the correct present participle of the verb
Ne ........ (saveir) pas quoi dire, je suis resté muet
a. sais
b.su

C. savant
d. sachant

Question Number : 67 Question Id : 70959721090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the sentence that means the same as Ses amies sont plus bavardes qu’elle

a. Elle parle moins que ses amies
b. Elle parle autant que ses amies
c. Elle parle plus que ses amies
d. Elle parle auss1 que ses amies

Question Number : 67 Question Id : 70959721090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the sentence that means the same as Ses amies sont plus bavardes qu’elle

a. Elle parle moins que ses amies
b. Elle parle autant que ses amies
c. Elle parle plus que ses amies
d. Elle parle aussi que ses amies

Question Number : 68 Question Id : 70959721091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Identify the incorrect response to the following question
Ouand va-t-elle au supermarche ?
a. Maintenant
b. Tous les vendredis
c. Soudain
d. Tard ce soir



Question Number : 68 Question Id : 70959721091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Identify the incorrect response to the following question
Quand va-t-elle au supermarché ?
a. Maintenant

b. Tous les vendredis
c. Soudain
d. Tard ce soir

Question Number : 69 Question Id : 70959721092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option that cannot complete the sentence
Jevais ............
a. a la boulangerie
b. au cinéma
c.a Lvon

d. des Etats-Unis

Question Number : 69 Question Id : 70959721092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Select the option that cannot complete the sentence
Jevais ...
a. a la boulangerie
b. au cinéma
c.aLyon

d. des Etats-Unis

Question Number : 70 Question Id : 70959721093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
select the correct option
Béatrice et son petitami sont _.............
a. gentille
b. gentils
c. gentilles
d. gentiles

Question Number : 70 Question Id : 70959721093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
melect the correct option
Béatvice et son petit ami sont ...
a. gentille
b. gentils
c. gentilles
d. gentiles



Question Number : 71 Question Id : 70959721094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The plural of Le ciel est bleu 1s

a. Les ciels sont bleus
b. Les ciels sont bleues
c. Les cieux sont bleues
d. Les cieux sont bleus

Question Number : 71 Question Id : 70959721094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The plural of Le ciel est bleu 15
a. Les ciels sont bleus

b. Les ciels sont bleues

c. Les cieux sont bleues

d. Les cieux sont bleus

Question Number : 72 Question Id : 70959721095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the correct sentence
a. Elles a des cheveux auburnes
b. Elles a des cheveux auburns
c. Elles a des cheveux auburn
d. Elles a des cheveux auburnnes

Question Number : 72 Question Id : 70959721095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the correct sentence
a. Elles a des cheveux auburnes
b. Elles a des cheveux auburns
c. Elles a des cheveux auburn
d. Elles a des cheveux auburnnes

Question Number : 73 Question Id : 70959721096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find the correct order of the words 1n the sentence
a. C’est un petit, destructif enfant
b. C’est un petit enfant destructif

c. C’est un destructif, petit enfant
d. C est un destructif enfant petit

Question Number : 73 Question Id : 70959721096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Find the correct order of the words in the sentence
a. C’est un petit, destructif enfant
b. C’est un petit enfant destructif
c. C'est un destructif, petit enfant
d. C est un destructif enfant petit

Question Number : 74 Question Id : 70959721097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Complete the sentence with the correct option
Ces tableqioc sont ...
a. belles
b. bels
c. beaus
d. beaux

Question Number : 74 Question Id : 70959721097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Complete the sentence with the correct option
Ces tableqioe sont .
a. belles
b. bels
c. beaus
d. beaux

Question Number : 75 Question Id : 70959721098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the sentence with the correct option
- -..... projet est moins compligué

a. ce
b. cet
C. cette
d.c’

Question Number : 75 Question Id : 70959721098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Complete the sentence with the correct option
o -..... projet est moins compligué

a. ce
b. cet
C. cette
d.c’

Question Number : 76 Question Id : 70959721099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Accent grave 1s found on
a. one vowel
b. three vowels
c. 5 vowels
d. 2 vowels

Question Number : 76 Question Id : 70959721099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Accent grave 1s found on

a. one vowel

b. three vowels

c. 5 vowels

d. 2 vowels

Question Number : 77 Question Id : 70959721100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The preposition g in the sentence Las avocats se vendent a 1 euro piéce means
a. to
b.1n
c. at
d. on

Question Number : 77 Question Id : 70959721100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The preposition 4 in the sentence Les avocats se vendent a 1 eure piéce means

a. to
b.in
c.at
d on

Question Number : 78 Question Id : 70959721101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
La bouteille de vinest ... la table
a. sur
b. sous
c. dans
d. entre

Question Number : 78 Question Id : 70959721101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill the gap with the correct option
La bouteille de vinest ............ la table
a. sur
b. sous
c. dans
d. entre

Question Number : 79 Question Id : 70959721102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Complete the sentence with the correct option
Faites attention. Ne roulez pas trop vite parce qu’........_.
a. Il v a des nuages
b. Il v a du vent
c. Il v a du brouillard
d. Il v a du soleil

Question Number : 79 Question Id : 70959721102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Complete the sentence with the correct option
Faites attention. Ne roulez pas trop vite parce qu’........_.
a. Il v a des nuages
b. Il v a du vent
c. Il v a du browllard
d. Il v a du soleil

Question Number : 80 Question Id : 70959721103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill the gap with the correct option
Elle est rentrée de ['hépital ............ dewx heures
a.illva
b. depuis
c. pendant
d. jusqu’a

Question Number : 80 Question Id : 70959721103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill the gap with the correct option
Elle est rentrée de 'hépital ... ......... dewx heures
a.illva
b. depuis
c. pendant
d. jusqu’a

Question Number : 81 Question Id : 70959721104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Fill the gap with the correct option
J'ai perdu le stvlo ........._... ['ai acheté hier
a. qui
b.qu’
c. quel
d. que

Question Number : 81 Question Id : 70959721104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Fill the gap with the correct option
J'ai perdu le stvlo ............. ['ai acheté hier
a. qui
b.qu’
c. quel
d. que

Question Number : 82 Question Id : 70959721105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Select the correct pronoun in the following dialogue
- Tu as pavié a ta voisine ?
- Now, jerme ............... 4l pas vue depuis une semaine

a.le
b la
c I’
d. lm

Question Number : 82 Question Id : 70959721105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the correct pronoun in the following dialogue
- Tu as parlé a ta voisine ?
- Nom, jerme _____________.al pas vue depuis une semaine
a. le
b.la
c. I’

d. lm

Question Number : 83 Question Id : 70959721106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Complete the following sentence
En géneéral, les températures dans le désert sont... ... ...... gu’'a la montagne
a. aussi elevées
b. moins élevées
c. pas elevées
d. plus élevées



Question Number : 83 Question Id : 70959721106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Complete the following sentence
En géneral, les températures dans le désert sont............ qu’d la montagne
a. aussi elevées
b. moins élevées
c. pas élevées
d. plus elevées

Question Number : 84 Question Id : 70959721107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Complete the following sentence
Les rues sont glissantes. Si tu ne fais pas attention, tu ..................
a. vas tomber
b. veux tomber
c. tombais
d. es tombe

Question Number : 84 Question Id : 70959721107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0O
Complete the following sentence
Les rues sont glissantes. 5i tu ne fais pas attention, td ...................
a. vas tomber
b. veux tomber
c. tombais
d. es tombe

Question Number : 85 Question Id : 70959721108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose one of the following verbs to complete the sentence
Vous ............. vous lever tét pour arriver a Il heure |
a. voulez
b. pouvez
c. devez
d. avez

Question Number : 85 Question Id : 70959721108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose one of the following verbs to complete the sentence
Vous ... vous lever tét pour arviver a 'heure |

a. voulez
b. pouvez
c. devez
d. avez



Question Number : 86 Question Id : 70959721109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following statements 1s not an advice
a. Vous écoutez trop la BBC !
b. Ecoutez la BBC pour faire des progres |

c. Pourquo1 vous n’ écoutez pas la BBC 7
d. En écoutant la BBC vous ferez des progrés

Question Number : 86 Question Id : 70959721109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following statements 1s not an advice
a. Vous écoutez trop la BBC !
b. Ecoutez la BBC pour faire des progrés !

c. Pourquot1 vous n’écoutez pas la BBC 7
d. En ecoutant la BBC vous ferez des progres

Question Number : 87 Question Id : 70959721110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Choose the correct answer to the following question
Je peux me servir de ton ordinateur ?

a. Oui, tu peux te servir

b. 51, vous pouvez en servir

c. Oui, vous pouvez vous servir

d. O, tu peux t’en servir

Question Number : 87 Question Id : 70959721110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
Choose the correct answer to the following question
Je peux me servir de ton ordinateur ?

a. Oui, tu peux te servir

b. 51, vous pouvez en servir

c. Oui, vous pouvez vous servir

d. O, tu peux t’en servir

Question Number : 88 Question Id : 70959721111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Identify the incorrect pronoun which cannot complete the following sentence

-Tu ..........cherches 7

a le

b. les

c. leur

d la
Question Number : 88 Question Id : 70959721111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Identify the incorrect pronoun which cannot complete the following sentence

-Ju .o.......cherches 7

a.le
b. les
c. leur
d la

Question Number : 89 Question Id : 70959721112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
select the correct answer to the following question
- Qui veut repondre a la question ? ... ...
a.je
b. mo1
C. me
d. mon

Question Number : 89 Question Id : 70959721112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Select the correct answer to the following question
- Qui veut repondre a la question ? ... ...
a.je
b. mo1
c. me
d. mon

Question Number : 90 Question Id : 70959721113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
What 1s the correct conjugation of the verbs in the following sentence
-On ... (ralentir) guand on ... ......___. (voir) la police
a. ralentis / vois
b. ralent1 / voie
c. ralentie / voie
d. ralentit / voit

Question Number : 90 Question Id : 70959721113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
What 1s the correct conjugation of the verbs in the following sentence
-On ... (ralentir) quand on ... .......... (voir) la police
a. ralentis / vois
b. ralent1 / voie
c. ralentie / voie
d. ralentit / voit

Question Number : 91 Question Id : 70959721114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

Select the correct answer to the following question
- Vous ne regardez pas la télévision ?
a. Non, je regarde la télévision
b. 51, je ne regarde pas la télévision
c. 51, je regarde la telévision
d. Ouy, je regarde la télévision

Question Number : 91 Question Id : 70959721114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the correct answer to the following question
- Vous ne regardez pas la télévision ?
a. Non, je regarde la télévision
b. 51, je ne regarde pas la télévision
c. 51 je regarde la télévision
d. Oui, je regarde la télévision

Question Number : 92 Question Id : 70959721115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Select the correct option to complete the following sentence
- Apporte ... ... vétements chauds ! La météo prévoit une baisse de température

a. vos
b tes
c. leur
d. leurs

Question Number : 92 Question Id : 70959721115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Select the correct option to complete the following sentence
- Apporte . vétements chauds | La météo prévoit une baisse de temperature
a. vos
b. tes
c. leur
d. leurs

Question Number : 93 Question Id : 70959721116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the correct option to complete the following sentence
Le directeur est ... ........ Ouganda pour une réunion
a.al
b.au

C.En

d a

Question Number : 93 Question Id : 70959721116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Select the correct option to complete the following sentence
Le directeur est ... ........ Ouganda pour une réunion
a.al
b.au
c.en

d a

Question Number : 94 Question Id : 70959721117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following countries 1s masculine 7
a. Bahrein
b. Syrie
c. Colombie
d. Tumisie

Question Number : 94 Question Id : 70959721117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following countries 1s masculine 7
a. Bahrein
b. Syrie
c. Colombie
d. Tumisie

Question Number : 95 Question Id : 70959721118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the incorrect answer to the following question
- Tu n'aimes pas les hamburgers 7
a. Oum
b. Pas beaucoup
c. Non
d. Pas du tout !

Question Number : 95 Question Id : 70959721118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the incorrect answer to the following question
- Tu n'aimes pas les hamburgers 7
a. Oum
b. Pas beaucoup
c. Non
d. Pas du tout !

Question Number : 96 Question Id : 70959721119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Select the correct option to complete the sentence
Je viens d’arviver a Sao Paulo. Je ne connais ........... ici
a. rien
b. pas
C. personne

d. quelqu’un

Question Number : 96 Question Id : 70959721119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
melect the correct option to complete the sentence

Je viens d’'arriver a Sac Paulo. Je ne connais ........... ici
a. rien
b. pas
C. personne
d. quelqu’un

Question Number : 97 Question Id : 70959721120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Select the correct adjective in the following sentence
Comment est votre ............. appartement 7
a. nouvel
b. nouveau
c. neuf
d. neuve

Question Number : 97 Question Id : 70959721120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Select the correct adjective 1n the following sentence
Comment est votre ............ appartement ]
a. nouvel
b. nouvean
c. neuf
d. neuve

Question Number : 98 Question Id : 70959721121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Fill the gap 1n the following sentence with the correct option
Je vous présente M Guillemot ... ... ... est le Directeur marketing
a 1l
b. que
C. qui
d. lm

Question Number : 98 Question Id : 70959721121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0



Fill the gap in the following sentence with the correct option
Je vous présente M Guillemot _.. ... ... est le Directeur marketing
a. 1l
b. que
c. qui

d. lm

Question Number : 99 Question Id : 70959721122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct sentence
a. Elle chante plus bien que sa cousine
b. Elle chante mieux que sa cousine
c. Elle chante meilleure que sa cousine
d. Elle chante plus bonne que sa cousine

Question Number : 99 Question Id : 70959721122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct sentence
a. Elle chante plus bien que sa cousine
b. Elle chante mieux que sa cousine
c. Elle chante meilleure que sa cousine
d. Elle chante plus bonne que sa cousine

Question Number : 100 Question Id : 70959721123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fill the gap in the following sentence with the correct pronoun
J'adore la chanson ... ... ..._.. Céline Dion a chantée dans le film Titanic

a. que
b. qui
c. quelle
d. qu

Question Number : 100 Question Id : 70959721123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fill the gap in the following sentence with the correct pronoun
J'adore la chanson ... ... ..._.. Céline Dion a chantée dans le film Titanic

a. que
b. qui
c. quelle
d. qu



